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Question 1. 
What is unorganized sector? Describe the working procedure of this 

sector. 

Answer: 

An unorganized sector is a sector that is not registered by the 

government. It is characterized by small and scattered units. Being 

outside the control of the government, no rules and regulations are 

followed regarding the employment and working conditions. 

This sector includes a large number of people who are employed on 

their own doing small jobs such selling things on the street or doing 

repair work. Working procedure in unorganized sectors is as 

follows. 

• The unorganised sector is characterised by small and scattered 

units, which are largely outside the control of the government. 

• There are rules and regulations but these are not followed. 

• Jobs here are low-paid and often not regular. 

• The condition of workers in unorganized sector is not good or 

stable. 
 



• There is no provision for overtime, paid leave, holidays, leave 

due to sickness, etc. 

• Employment is not secure. People can be asked to leave 

without any reason. When there is less work, such as during 

some seasons, some’ people may be asked to leave. 

• A lot also depend on the whims of the employer. 

• This sector includes a large number of people who are 

employed on their own, doing small jobs such as selling things 

on the street or doing repair work 

Question 2. 

Explain with suitable examples which part of the service sector is not 

growing in importance. 

Answer: 

The employment generation part of service sector is not growing in 

importance. The service sector in india employs different kinds of 

people. At one end, there are a limited number of services that 

employ highly skilled and educated workers. 

At the other end, there are a very large number of workers engaged 

in services such as small shopkeepers, repair persons cattle, owners 

transport drivers and electricians. These people barely manage to 

earn there living and yet they perform these services because no 

alternative opportunity for work are available for them. 
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